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QUESTION 1

Which Service Model provides the best environment for testing new software?
A. Infrastructure as a Service (laaS)

B. Platform as a Service (PaaS)

C. Software as a Service (SaaS)

D. There is no difference

Correct Answer: B

QUESTION 2

What is the goal of an ISO/IEC 20000 follow-up audit?

A. To change procedures and working instructions

B. To check if the organization still fulfills the ISO/IEC 20000 requirements

C. To implement additional processes within the Cloud provider\\'s organization
D. To pay specific attention to the Change management process

Correct Answer: B

QUESTION 3
What is a difference between XML and HTML?

A. XML is used to format many types of documents and structures; HTML formats the display of content in a web-
browser.

B. HTML is used to format many types of documents and structures; XML formats the display of content in a web-
browser.

C. HTML can be used to format the display of content in a web-browser, XML cannot.
D. XML can be used to format the display of content in a web-browser, HTML cannot.

Correct Answer: A

QUESTION 4
Why is text messaging in automobiles outlawed in many countries?

A. for financial reasons
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B. for safety reasons
C. for security reasons
D. for synchronization reasons

Correct Answer: B

QUESTION 5

What does \Vloosely coupled\\' mean?

A. An object implementing only a single method or function.

B. The application from one organization can use the service of another organization.
C. The services in the cloud can be ordered when needed.

D. The thin clients can be disconnected anytime.

Correct Answer: B
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